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objective type question.
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Attempt all three questions. Question 3 is having a choice with Rajbhasha.
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1 Solve any two IS &l & &L 8
1.1 | Simplify (17.5+29.3) +(29.3-17.5)
T B (29.3)+17.5)

1.2 | A train passes through a tunnel whose length is 500 meters in 1 minute moving at the speed
of 72kmph. Find the length of the train.

e Er 72 el ufd 9 T THAR @ 500 HeX HT v T B 1 FHAT A U B
| S i TS R |

1.3 | A cistern is filled by pipe A in 10 minutes and can be leaked out by a waste pipe B in 12
minutes. If both the pipes are opened, in what time the cistern is full?

U TAEA UISU 37 gRT 10 fRde & 90 1 FhaT € TA USY 9 gRT 12 Ade # @relh
& Tdhar & | 3G AT oy gl § o A fhaa @ea i s S

2. Fill in the blank from the choices given 10
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.1 | HIN1 is a ---- (Virus/Bacteria/fever)
Tg (U | T - ¥ | aRE/deRTa/gERr

0 R is the first Woman President of India (Smt Indira Gandhi/Smt.Vijay Laxmi
Pandit/Smt Pratibha Patil)
------------ HRa A gAH Afger veefd € | el R weh AaAfa RAsmeee ofsa
Hafa gfasr arfee)

2.3 | First Railway train ran in India between ----- to ----- (Bori Bunder to Thane/Kurla to
Thane/Howrah to Burdwan)
Ra & guHA ¥ WE - ¥ - ¥ T ge @ 1@ de @ et @ a=
[ETasT ¥ TEHTE)

2.4 | Head Quarter of West Central Railway is located at --------- (Jabalpur/Bhopal/Allahabad)
ufRH ALY Yo A JEAT --------- # g ¥ | (JaaqR /AT SATerTs )

2.5 | —mmmmmmmeme- gets the Best Picture award in 81% Academy Oscar award (Slumdog
Millionare/Mother India/Gandhi)
81l PR el TS H ------------ B GIAE fhed wars QT (FHsnT HIsuid/
FeY sfear Amd)

2.6 | - wins India's first ever individual event Olympic gold ( Milkha Singh/P T
Usha/Abhinav Bindra)
------------ 2 NAFuw F cafrag wout & 9Ra & T e wof Shar | (e
Rg/N & swyRaa e )

2.7 | Length of Gandhi Setu near Patna is around ----- Km ( 4.6Km/5.6Km/6Km/6.5Km)
TeaT & AqErd Il A Y TS 9T - el ¥ (4.6 / 56 / 6 / 6.5 Tonalt

2.8 | Total earning of-------- Division is the highest in East central Railway
(Mugalsari/Danapur/Dhanbad)
________ Hsel P Pl A G AT WA F Fad 3D § | IR/ ETAG /U

2.9 | Sun Temple is located in -------- State of India (Orissa/M.P./Karnatka)
T #AfR #ARd F -------- T # UG ¥ | 3E1/ACIUSRA/BEATCTHT

2.10 | Commonwealth game in the year 2010 will be held in -------- city. (New
Delhi/London/Banglore)
T 2010 P PATICYT @ -------- X # At | AR /A /AR

3 Answer any Four fhefl IR & X fored 12

3.1 | What are seven colors of Rainbow? SEUUIRI & AT & Hld A & ?

3.2 | What is the effect on boiling temperature of water at mountains?
ST & QR aTgehdA TR TSl WX ERIT UHIG USdT § 2

3.3 | Brass is an alloy of which elements? s/ fhe foret Tl & i s @ar & 2

3.4 | Why you feel loss of weight when lift starts downward movement?
e & i f 3R wE A W g F el =i Fegg & ¥ 2

3.5 | Why an iron weight of one kg sinks in water tank whereas one Kg of wood floats?
a1 HRUT ¥ 5 U fhaane i &1 9 U & & # ga ST § S Uh fohemana
RS AL @l & ?

3.6 | Why an Incandescent lamp takes more current at switching on which reduces after the lamp
start glowing? Ueh Seidhste oled F 3 S die Aar & AR oo & Qe &3 &
A HA B Al ¢ Fi?
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Rajbhasha (Answer any three) TSTHET(fhe®l et &1 3av ford) 12
[3.1 | R & vaier vaR & o0 9RA @ feael & & arel arn ¥ 7z & 3 I ae
o ATT Tod IRFG T & a9 @ |
32 | dfaura & smedt gaet # el smend gt € 2
33 | gorHT @ @ HU ¥ 2 YA TIHET F AU R FAFA © ?
34 | ReE Raw &a 3R Fb AT AT © 2

PART II HI9T &Y

Attempt any 6 Questions.
e ©: wAl & 3 ford |

Attempt any 4 Numerical
had AR IVACHS UH T DL

20

1.1

A train is running at a constant speed of 40 meter/sec on a level track against resistive
forces of magnitude 3x104N. Find the power applied by engine.

wmﬁﬁm%wwﬁaﬁ—éaﬁmw TFAR A 3x10" et &
oafea oafs & arHaAT g%ciiﬂrﬁ%ls'aagmmnéwmﬁl

1.2

Find the value of R and current through it in the circuit given below, if current through
branch AO is zero.

ﬁﬁ%ﬂaﬁzﬁmeﬁrhmaﬁaﬁvaﬁaﬁ@aﬁt%m%

13

A 3-phase induction motor is wound for 4 poles and is supplied from 50-Hz system.
Calculate (i) the synchronous speed (ii) the rotor speed, when slip is 4%.

uF dia ol H STRE AT 4 O & T asE H 73 § A 50 & RBVeHA F OB
AW R | Ia B (1) Reasaw a1fd (2) 4 yfaRa Fag @ Qe & a1fa

1.4

A 10kW, 3-phase motor has the name plate details as 415V, 18.2A and 0.9Pf. Actual input
measurement shows 415V, 12A and 0.7Pf which were measured with power analyser
during motor running. Calculate the percentage motor loading.

T 10 fha are el et A SsaRE Aley A AT Tl W 415 dlec, 18.2 T UF 0.9
ureR Y forEr & | Al & Fod U IR TATeTgeR gRT A R I {6 areaa #
AT 415 dlec W 12 U i 0.7 U} Paex W o W & | A i gfalRa afdar ana
H |

L3

A 400 watt mercury vapor lamp was switch on for 10 hrs per day. The supply volt is 230 V
and the lamp takes 2A current at Pf of 0.8. Find the power consumption per day?

TUF 400 dlE H FIHY 3T 10 g¢ F v ufdfea 3 war & | e 230 e &
3R 5T 2 T e 0.8 UK Heey W o § | ufafea sl & wd & aJa & |

1.6

A particle is projected vertically upwards with velocity of 40 m/s. Find the distance traveled
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by the particle in 2 secs. Take g=10m/sec? \,%11
T g drar W A 3R 40 PR ufa A $ afd @ Her S ¥ 1 2 S A

fopael gt e A @Y | S @ 10 e ufd dhs uid s o |

2 Attempt any 2 questions 20
hael & WA & B
2.1 | What do your understand by Energy Conservation? Write 5 measures you would like to
take for energy conservation in your field of working
Toll EXETOT @ 31T AT FASA & ? d6 Urd add ford 3 3o E&01 & faw 3mv 3
T & # dar A |
2.2 | What design features exist on a coach to prevent fire aceident due to-eleetrical shert cireuit?
Write, in general, five measures you would like to take for fire prevention in your area of
working.
faga ¢ @ffic & HROT 3T O A giea B Jha F T Fal s A sSEA A
g @ o v ve @d o € 2 e dk @ ufw alid o S 3mr gdear
& Vbt & AT 3T 30 FF & F H o1 T |
2.3 | What do your understand with Electrical safety? What measures are adopted to ensure
electrical safety for the workman and user of electricity
faga gem & 3T @1 FHSC € 7 PN Td fASteh & gEdAT A arel b fow
fasrel gRam & o &= afds e I § |
3 Answer any Two 20
ey ar &t 3¢ ford
3.1 | What do you understand by Schedule of dimensions? What is ODC and different
classification followed over Railways
Y AT 3F SHAAA & T FASI © 7 3T 3 & &1 § 3R Y7 A @ aoffezor
HOAT 1T & ?
3.2 | What are the Regulations for Electrical power line crossing?
fagd ureR SIS IR & (@RI FT E ?
3.3 | What are different types of maintenance? Explain working method followed in your field
of working to prevent failure of any equipment. Name five records you maintain on
maintenance in your field of working.
AADdg H AT R =1 § 2 3ud FF T FH sadiudie FeaR B A & v
FIT I YO SEAAT Y ST & 2 39 urd Reps & a7 @ it 30 A8 &
fow 3 &t & o @A ¥
4 Multiple Choice questions 20
HAACUS FHTAT T
4.1 | If the voltage fed to an electric circuit is reduced to half, the power consumed will change to
(a) no change (b) half (c) one fourth (d) twice
afy frel faga affhe & dieest 3mEh & § S o wraX & @l
1. 3 PI$ JEeTT FE T 2. T B SN 3. Th WA & 0 4. I @
ST
4.2 | Earth Resistance is measured by (a) Line tester (b) Megger (¢) Voltmeter (d) None of the
above 31 AN &Y HUT ATAT & 1. TS X 2. IR 3. AocAT 4. 598 A IS
4
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4.3

Which one of the following is best insulator (a) Copper (b) Moist air (c¢) Dry air (d) Mica
Z3f ¥ Pl GaW ITOT SPA © 1O 2.AH &aT 3. YSh TT 4. A

44

The capacitive reactance of 100pF capacitor is 31.83 Q at S0Hz. The reactance at 100 Hz
will be (a) 31.83Q (b) 63.66Q (c)15.92Q (appx) (d) 100Q
100uF ¥ T &1 hiuwafed RAFH 50Hz TB1.83Q ¥ | 100 Hz W I RIFH (a)

31.83Q (b) 63.66Q2 (c)15.92Q (¢TITHIT) (d) 100L2 QRS

4.5

The proportionality between speed and field current in a DC series motor is (a) direct (b)
inversely (c) direct and square root of field current (d) inverse and square of field current

& A O FAex F A g Pree Hie F T NUREAE (1) SREE(2) 3499 (3)
SRIGE UF Ploc HIC B Thal IC (4) 398 Ud HIes T & FThal aldl ¢

4.6

In star connection , the ratio between line voltage and phase voltageis  (a) 1/J3  (b) &3
()1 (d)J2
TR FART A a5 W ha dced AR (N 1/HB 2)M3 B3)1 @R AT |

4.7

The Pf of load which consumes 1000kW of active and 1000kVAR reactive power is (a)
Unity (b)J2 (c) 1/82 (d) 2
IE @1z S 1000Kw Ufded Uray Td 1000Kvar Rafdea oy dar § 3@ar ural $hered (1)

TP (2) 2 (3) 142 (4)% &EN

4.8

Efficiency of transformer at full load is generally in the range of (a) 50-60% (b) 60-70% (c)
75-85% (d) 90-98%
THERER 1 P iz W TRRAGH B IS (1) 50-60% 2) 60-70% (3) 75-85% (4) 90-98%

B ¥ |

4.9

An ideal transformer has maximum efficiency when (a) Cu losses are equal to iron losses
(b) copper losses are less than iron losses (c) Cu losses are more than iron losses (d) None
of the above

TP RIS STHPRE A 3RAeae ThiREHE aidt § 3@ (1) IR AT JRRA a6
WER A & (2) PR o IR o § FA & & (3) PR a1 IR o d 3RS

A & (4) 5 A P A

4.10

One ton of refrigeration capacity is the amount of heat required to (a) melt one ton of ice in
one hour (b) one ton of ice in 24 hrs (c) raise the temperature of one ton of ice by one
degree (d) none of the above

T o YRR HIRAE auet At ¥ 37 et @) A S aWF ¥ (1) TF T a6
B TH UE AU $ AT Q) T o aF P24 WE F Aued F Aw G)vF e a6 &
ATHA B Tw BN AADE do F VT (4) 3T @ P Ah

Answer any two
foper &1 & X ford
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5.1

THD in power supply and measures to reduce

U] g # & g &Y vg 3H FA P b add

5.2

What do your understand by On-line and Off-line UPS and explain with diagram?
NI AT Ud 6 s I 0 TH A 31T T FASA & [OF qA] FASE ?

53

Short note on Vacuum Circuit Breaker

g Al 9o TR W@ ool

5.4

Power factor, ways to improve it with calculation of kVAR required to improve pf and its

implication on energy Bill
)
la q Uk




TR ey SHET doTe & Al WY HATHR H dogee Had dd gerdr 5 ad
AR =S el e W@ yHE usar § ?

Compare the advantage and disadvantage of two of the following on technical, cost, design
and maintainability etc.

g # ¥ Faa & & dEAs, O, Boda Td AT 1Y F AR W B 0T
JhHT & JerATcHS faaor &

20

6.1

25 versus 2x25 kV traction power supply system

25 Td 2x25 el SeRIA UTdR qaS AEeH

6.2

Self Generating Coaches versus End-on-Generation

Ae® FeRIEIT PIT T TS 3 AU

6.3

WAG7 versus WAGO class of locomotive
WAG7 Td WAGY T

6.4

Static Inverter versus Arno

wefew sqacy v JRAT

Attempt both the two questions
arr gt &1 oY o

20

7.1

Write full form of 10 of the following abbreviation

s BRI B Q@ B

IRIEEN, BEE, ISS, CFL, HRC, RDSO, LED, CLW, IGBT, WAP4, XLPE, RAM

3E WX IS S S U, § €, 3 vH v, v R M, 3R 5 vw M, v &, ;o

TS 3ec], 3 Sff & &, See U ot 4, &7 & Y, 3IM T wH

10

7.2

Answer any five short questions:
g yait F ¥ Rl e o EfEe 3R fod
a) Why the earth terminal of a three pin plug is thick and more in length as compared
to other two

T R o & 3 AT 3= Q@ cHlad @ FFr g Aer a1 BT & ?

b) Why it is necessary to earth a coach?

BT B FY B T FIT IHATDAT & ?
¢) Why secondary of a current transformer is never kept open?

PC THAPRAT &b Jheadl B Yol FAT AL I@T ST Hebell & ?
d) Why DC series motor is not started on no load?

& & RS A & e oz W a1 T J@ 6 S e & 2
e) What is rms value of sinusoidal wave ac current

AR Tl dic T JR TH T deg AT Bl & ?
f) What is GTO and its role in electrical power systems

NEN &= e ¥ 3R s Rega urar Rwed A @1 wgca ®
g) What causes wheel slipping and wheel skidding

ufew & fdu vd fps @ Fa7 HROT §

10
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